A RS IRERERE (FHR2556A10B~12HRAHE)

WatHRE (1 Sv/h)

NO | HhRES REERSA 7 XigfE
cm 50cm 1.0m

1 A—4 BARIHEAO 0.65 0.67 0.58 =1

2l B—3 |[#AMKIEE 0.60 0.45 0.44 B

3] B—4 [E/RiE{HE 0.78 0.40 0.33 BEh

4 B-—5 [HHEARSE 0.46 0.42 0.42 Bh

5/ B—5 |[AthpAREE 0.43 0.38 0.38 BEh

6 B—5 |ER(Err) ik 0.48 0.35 0.27 BEh

7 B—5 KM {HE 0.17 0.18 0.17 BEh

8] B—5 [FEHEm 0.69 0.47 0.40 BEh

9] B—6 [THHALAERME 0.61 0.44 0.36 ED)
10 B—6 | FHIIfHE 0.30 0.20 0.25 =
11 B—6 [FEERESEREO (FO) A 0.63 0.42 0.33 £l
12| B—6 EJJ?(IEI#%? ) ik 0.47 0.40 0.34 BEh
13] B—6 [dLgifhi 0.71 0.46 0.39 ED)
14| B—6 |FHABHME 0.56 0.47 0.35 ED)
15| B—6 |BOEAREER] 0.72 0.54 0.47 BEh
16/ B—6 [|XKBELEFI 0.14 0.17 0.24 B
17 B—7 |/NHEEFHIR(EXRATENEFi) 0.48 0.37 0.33 ED)
18 Cc—3 [|FARMREAO 0.39 0.36 0.36 Bh
19] Cc—3 [#%h/ A=t AOfHE 0.36 0.37 0.37 Bh
200 C—4 |#BOLMKA 0.67 0.48 0.41 B
21 C—4 | FHXUBFHEE ) 0.47 0.27 0.25 BEh
22| C—4 [|BABEfE 0.58 0.46 0.35 BEh
23] C—4 |BXII—A29 (BE) (1) 0.32 0.26 0.25 Bh
24| C—5 [BEENERfE 0.59 0.49 0.43 BEh
25 C—5 RITES R 0.53 0.50 0.50 Bh
6] C—5 |X&1&F 4.65 2.31 1.46 BEh
271 C—5 [TrEAEH#NA 1.01 0.49 0.39 BEh
28] C—6_ |52oFELE 0.43 0.42 0.37 £l
29] C—6 [EHALNELER 0.32 0.35 0.31 ED)
300 C—6 |[HBLUIXEMHAO 1.04 0.80 0.54 £l
31 C—6 MBI EMAEKhEF EEm 0.85 0.51 0.47 BEh
32 C—6 |[LATULAEE] 0.64 0.43 0.39 £l
33)] C—6  |MEBAFMHA 0.44 0.35 0.30 =1l
34| C—6 [([F=ELREEEIEEHEH 0.70 0.57 0.38 £l
35| Cc—6 |INTHREREUE Z—GEAH) 0.22 0.18 0.17 £
36| C—6 |IUTHEISERAEE 0.54 0.43 0.35 =1l
37l C—7 [INAnNAVEB 0.60 0.46 0.45 =1
38] C—7 [KEAKAEEE) 0.80 0.57 0.49 £l
39] c—7 |IINHEREZEK 0.45 0.37 0.25 =1
40 C—7 |[{EMFEERIEF{TIAZEHR 0.45 0.42 0.33 £l
41 C—7 |IEBFEAFEMfha 0.60 0.52 0.47 =1
42l Cc—7 [HhLBEEMHE 0.71 0.54 0.47 £l
43| C—7 |FEchE#h (EiEH1F) 0.48 0.47 0.43 =1l
44| C—7 |KEHIFFHE 0.94 0.51 0.35 =1
45| C—8 |[BERGhFE) 0.46 0.52 0.42 =1l
46| D—2 |J1—ryyRCCAO 0.48 0.60 0.60 Bh
471 D—3 [PFXFERE 1.62 0.96 0.82 BEh
48] D—3 TR 0.51 0.51 0.46 BEh
49| D—4 |[SBGER)fhk 0.56 0.42 0.39 ED)
500 D—4 |EAE;Z/AMK 0.34 0.36 0.36 BEh
51 D—4 | EPFXRLESE 0.57 0.42 0.37 Eh
520 D—5 |[FhEEERHE 0.72 0.35 0.29 ED)
53] D—5 [EEE/INFR (BIEFHED) 0.53 0.32 0.27 BEh
54| D—5 [BE/NEREER 1.07 0.75 0.59 £l
55| D—5 |IHEMZ2AREEHI 0.60 0.55 0.42 =1
56| D—5 |EEMB AOfHAE 0.44 0.40 0.32 =1
5711 D—6_ |{fARYILI SR 0.15 0.13 0.11 £
58/ D—6 |HFH—TU2E 0.18 0.19 0.14 =1
50 D—6 | EirOEMA 0.54 0.35 0.29 =1
60l D—6 [AX5sA+F 0.55 0.42 0.35 £1)
61 D—6 |HERZEEHA 0.73 0.63 0.47 =1

* B F LD & LLHE D BITE B (F8I5E ih Iﬁ(:EEEJw)&;BUE??o E245
NO | HEES BEEL —BEIRE LG b KR4
cm 50cm 1.0m
62| D—6 |FHEHEFBIS 0.42 0.51 0.46 £l
63] D—6 |Eglu=—1—392 (NE) 0.37 0.35 0.35 D)
64f D—7 |EHEAREFE 0.48 0.38 0.33 D)
65] D—7 |LEEERBRZIHEUIES 0.20 0.20 0.19 ED)
66/ D—7 [|/INEEEIA 0.87 0.67 0.54 £
67] D—7 |[2)IHhis 0.62 0.46 0.44 £
68| D—7 |ERULEE400mAEftia 0.32 0.31 0.27 £l
69| D—7 |FEHERAO 0.66 0.51 0.44 £l
700 D—7 [EEBEEAE 0.40 0.38 0.33 D)
71 D—7 |VIAAERTE R A 0.42 0.39 0.41 =l
72| D—8 |FEIIFHEHIR) 0.23 0.24 0.19 =l
73] E—2 [#AFEfhHE 0.85 0.57 0.46 Bh
74| E—2 |EAFHFB 1.03 0.44 0.40 BEih
75| E—3 |BOE®iHigE 0.55 0.50 0.42 ED)
76| E—4 [EBRAREER 0.27 0.28 0.28 D)
771 E—4 |IHEEQOR/AREERI 0.65 0.50 0.33 £l
78] E—5 |FRIRA LfHE 0.33 0.31 0.24 D)
791 E—5 |#BER§ifhE 0.48 0.35 0.32 £
80 E—6 |—OXi#R 0.73 0.53 0.41 £l
81 E—6 |[EEHER=M&EFTA 0.61 0.50 0.44 £l
82 E—6  |/NEEHI~ s AH#A 0.98 0.70 0.53 =
83] E—6_ | KBOEYISUF 0.67 0.61 0.51 D)
84| E—6 |[EEGEIHFAAA) 0.82 0.61 0.55 D)
85| E—7 |FRIRMEERER{TR 3.12 1.00 0.69 £Y
86 E—7 BIRSATER 0.70 0.55 0.46 £
87 E—7 |#HRAREEHEI 0.17 0.21 0.20 £Y
88 E—7 |HRAREEEIHFIR{TIA 0.55 0.39 0.31 £
89 F—4 [/t fh& 0.62 0.47 0.40 =
90| F—4 |HREHBREEEVS—EEISH 0.46 0.40 0.38 ED)
91 F—4 |AESZABUtE2—d] 0.50 0.34 0.34 £
92 F—5 EH MR (R289MS500m A LT HE) 0.55 0.35 0.31 =)
93] F—5 |ZEAERER 0.52 0.49 0.38 ED)
94 F—5 MRt A—Z R 1.17 0.59 0.41 =
95 F—5 |ZIERPIGHRBIEYA/0th 0.36 0.38 0.29 £
%6 F—6 |&LEEKHAO 0.41 0.41 0.36 D)
97] F—6 |MIEMIEETF 0.61 0.47 0.40 D)
98] F—6 [EBEBIRN\REH{TE 0.23 0.36 0.32 £l
99 G—1 TEZF (@ -XXE) 0.29 0.23 0.23 BEh
100 G—3 |FES LEIEHIS 0.30 0.24 0.21 £
101] G—4 |&FEKGCRERFEIG{TIR) 0.40 0.36 0.33 £l
102] G—4 |SEEFhHA 0.50 0.32 0.25 £l
103] G—5 |BRBRAAHCCEIHIG{ kR 0.36 0.30 0.25 £
104] G—5 [EIF LEEEHR{E 0.53 0.43 0.39 £
105 G—6 | KREBEEXEM 0.20 0.19 0.18 £l
106] G—6 |[EHTFHE 0.30 0.32 0.26 £l
107] H—3 [BH4~EHhis 0.30 0.23 0.23 D)
108] H—4 |EECAIELEE 0.24 0.21 0.19 ED)
109] H-5 Eﬁ'n**ﬁ!ﬂ%*gﬁ' GBS L) 0.29 0.24 0.28 £
110] H—6 [KERIEH#DERE 0.30 0.26 0.20 =)
111 1—3 Faoo FG2) 0.30 0.26 0.24 =)
112 1—4 BFXFaRIOYARTILAOM G 0.26 0.19 0.16 ED)
113 1—4 BADR (W) 0.11 0.10 0.08 =
114 1—4 BAODRXv 7B AO 0.29 0.23 0.19 £l
115 1—4 DA RLE RS AT R AIF5m UK E A ) 0.07 0.08 0.10 £l
116 J—5 FELLEIES 0.20 0.18 0.16 =
117 K—3 HEhR)LAOETES 0.16 0.16 0.14 =)
118 K—3 B IWLIUTE - — 0.04|B&h (25/5/17815%)
119] K—3 [BEHAE4hA — - 0.10[BEh (25/5/17815%)
1200 K—8 [REEEEHFA 0.17 0.16 0.14 =
121 K—4 |li#E - — 0.17|8h (24/ 8/ 58I%)
122 K—4 |[#EE - - 0.05|BEh (24/ 8/ 5HIE)




